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Instruciions for candidates TIME ALLOTTED: 2 Hrs
1. Total No. of Questions-100. Each Question is of three marks.
2. One mark will be deducted for every wrong answer.

3. Do not write or mark on the Question Paper.

4. Question Paper to be returned before leaving the Exam Hall.

Read the foliowing passage carefully and answer the questions given below:

We shall go on to the end, we shall fight in France, we shall fight on the seas and
oceans, we shall fight with the growing confidence and strength in the air, we shall defend our
island whatever the cost may be, we shall fight on the beaches, we shall fight on the landing
grounds, we shall fight in the fields and in the streets, we shall fight in the hills. We shall never
surrender, and even if this island or a large part of it were subjugated and starving, then our

empire beyond the seas would carry on the struggle, until the New World steps forth to the
rescue and the liberation of the Old.

Q1. On the basis of the passage which of the following statements may be said to be
correct?

(a) The speaker is encouraging his men for the conquest of France

(b) The speaker is an aggressive ana maniacal war-monger

(c) The speaker is not satisfied with the conquest of the isiand

(d) The speaker is a patriot urging the defence of his motherland

Q2.  The speaker in the passage wants to go on flghtmg because:-
(a) He is a raving lunatic
(b) He is in a state of utter despair
(c) He expects help from other quarters
(d) He is the leader of a suicide squad

Q3. = Which of the fellowing pair of the phrases.helps hest to bring out the intention of the
speaker?

(@) "Go on to the end”," shall nei&f—sﬁ?ﬁénﬁer" :

(b) “Growing confidence”, “ @ﬁgg‘j and starving” £

(c) “Subjugated.and starving”, “fighting on the iangﬁng ground”

(d) “Fighting in the streets”, “subjugated and starving”

Q4. The passage consists of repetitive patterns in syntax and vocabulary. The effect of this
style is that it--

(a) Reveals the speaker's defects in giving a speech

(b) Produces the impression of bad poetry

(c) Conveys the speaker's helpless situation

(d) Reinforces the speaker’s basic intention

Q5. The tone of the speaker is:-
(a) Pleading and urging
(b) Inspiring and encouraging
(c) Discouraging and gloomy
(d) Menacing and bullying

in_each of the following, choose the word most similar in meaning to the word given in
capitals.

Q6. “MEDDLE ,
(a) Disregard (b) Overlook (c) Interfere (d) Free
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Q7. “ABJURE" G
{a} Renounce (b) 'F{u_'n 0 _ eﬂy

(¢} Abide (d) Discuss
Q8. 'ESTRANGE® .
(a) Endanger. . (b). To b@come puzzimg (c) Miscalcuiate {d} Aiienaie

In_each of the f@!iﬁwma, c“mbse %he wmcg 5“‘;&59 ﬂeari\; Gmg}ebata it meaning the word
MM@EL.L S _ L

{(a): Conferrﬂd -:'(b_) Immadzatﬂ b 3'-.:_ ' (r} PIuIS ing (d) Private
Qio. WANET PR
(a) Widen (b) Poor () Swmli (dy  Tight
In gach of the following questions, find out which nart has an eryor
Q11 The police has (a)arested the thief (u)i\w broke me my house {c)last night, {dy ~

Q12.  The man who (a)/ t‘w\/ tHoughf to b@ {b)fa jenﬂeman turned out [c) fo be 3 rougue. {d)

Q13. I told him on his face (a)/’that he could: m’r ‘10J¢~ (b)/ to pass the strmgﬂnt {ciMedical
examination of +he SQr\nf‘es Qefectzon erd fd} o

Q14 Mohan is ohe of those Doys ( s WhO hag exnreasnd (b) fi!!i'ngneas for joining (c)f the
educational tour. (d). TR

Q15. | may spend {@)/ this summer vacations (Dhwith one of my friends{c)/ in the back waters
of Kerala. (d) :

Pick un the most effective wore from the givery words o fill in the pianks fe make the
senience meaninafuily Gomnplcts.

Q16.  According to the weather itis Qosna ta be cloudy today.

(@) Announcement (b} indication (c; Prediction (d) Forecast
Q17 The villagers the murder of theinisader by burtiing the police van.
(@) Protested (b} Avenged (¢} Mourned {(d) Consoled
Q18.  While on a routine ’rhgnt the aircraft was hil by & migsile and Ino flames.
{(a) Fired {b) Burst {c) Caught (d) Engulied
Q19 Hari got the company car for a price as he was the senior most employee in the
company.
{a) Reduced {(b) Discounted (c) Fixed (d) Nominal
Q20 The unruly behavior of the soldiers ____ their commander.
{a} Ciashed (b} Aggrieved (¢} Incensed (¢) impeachned ;
@21, Who accorded the title ‘Mahatme’ to MK Gandhi? .
(@) Sardar Pats! () Neheu (€} Sarojini Naidu (&) Rabindranath Tagors :
Q22. The Nor Co- -operation Movement started in which year?
(&) 1900 (by 1921 (c) 1940 {d) 1935
Q230 During the Middie Ages education was confined only ta:-
{@) Kshairiyas (D) Bratunine (C) Peasanis {d) Shudras
Q24. Who among the tollowing was regponsible for the spread of Suddhism in Syi Lanka”?
(a} Ashoka (b} Mahavira {c) Farsavanth {d} Chandrs Gunts Maurya
Q25. The elements whiah have fow value of ionization potential are strong:-
(a) Oxidising agents (bl Reducing agents

(¢} Oxidising and Reducing agents deps nding uporn the reactanis (d) none of these
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28 Wayne Roonsy, tnm famous footballer, hails from which Cou*\‘tr\/"?

(&) laly S (b)Y Brazil {c) Argenting () England
.27, The official song WakaWaka'of FIFA Worle Gup held in the vear JD‘IO at South Africa
was sung by which popular singer?

(2} Madonna ~ {b) Destiny Child (c) Shakira (d) Rehanna
(.28, Inthe vear 2011, the ace badminton player Saina Nehwai was honourad with which
sporte award”?

{&; Dronacharya award (b) Rajiv Gandhi Kha! Ratna award

(¢) Arjun award (d} None of these
02 Term Visible Horizon' in astronomy is defined as-

(a) The circle of contact of the earth and the cone of visual rays passmg through the
meridian of the place.

(by The circle of contact of the earth and the cone of \nsuai rays not passmg through the
meridian of the place:

(&} The circle of Contaci' o*r thﬂ earth and the oone of vzsual rays passmg through the
point of abservation:

(d) The circie of cc)ntac:; o:I tha ear’{h aﬁd the cone of \n:,ua! ray~ no’t pasc;mg through the
point of observation.
Q30 NREGA stands for-
(a) National Revenue Engagement Guarantee Association
(b} National Revenue Employment Guarantee Act
() National Rural Empmvment ‘Guarantee’ ‘Association
() National Rurat Emplovmen’t Guarantee Act
G331, River battu; onglna’tes from:-
(&) Northern slopes of the Kaitash range  (b) Spring at Verinarg

() Qakas Lake . - - (d) Amarkantak plateau
"32. - Limonitic ore is the are of which metal ? E—— .
{a) fron o (b Aluminiam (c) Zinc {(d) Cobalt

Q33 Black revolution relates to whickref the failowing?
0 (a) Seli-dependence in foodgralr‘s oroductlon (b). Self-dependence in milk production
(c) Seii- dopenoance in petroieuml crude on (d) None of these
Q34 'Karrar is the unmanned bomber aircraft of -
(@) lrag e b) iran S {c) Turkey (dy Pakistan
QBS."‘._'Who is the authm of book Keeplng the- Falth Memoirs of a Parliamentarian?
eay Da\/td Omand (b)Y Raja Shehadeh {c) Raghav Bahi (d) Somnath Chatterjee
Q3. isa thyrold hormone which controls the balance of ca!mum in the body
0 (a) Calcitonin - (b) Thyrox.ne g {c) Calmodultn (d) all-of these
Q37... The cell wali.in plants is lnterrupted by narrow pores carrylng ﬂne strands of cyioplasm
WhICh interlink the contents of the cells. These strands are called:-:
: _'(a) Plasmahoie (k) [\morovn!h e (o) Piasmodesmata (d) P!asmaiemma
Q38 Whois the cricketer beatoweo WIth an honorary commission in the Territorial Army?
{a) Sachin Tendulkar (b) Kapil Dev ‘(e) Virendra Sehwag (d) Harbha]an Singh

Q39  The transport phenomenor ocours only in state of & gas andis
(@) Non-equilibrium, irreversible ~(bY Non-equilibrium, reversible
(¢} equilibrium, irreversible (d) eguilibrium, reversibie
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Q40. Which of the following compounds form nitrites with nitrous acig?

(@) Primary amines- - R (b) Secondary amines
{c) Tertiary amines R (d) All of these

Q41. The number whose square is equal to the difference of the squares of 37and 23 is -
(a) 45.00 (b) 2898 = . (c) 47.09" (d) 28

Q42.. The average age of 8 men is increased by 4 years when one of them whose age is 30
years is replaced by a new man What is the age of new man?

< {(a) 55 Years: .. (b 62 Ye_ar's-'::'_ S (c) 42 Years (d} 69 Years
- Q43. Avessel ful of water, weighs 24 Kg. When the vessel is 14 full, it weighs 9 kg. Find the
weight of empty vessel. SR

(a) 4 Kg L BI5Kg (g akg (d) 3 kg
Q44. Ifa-b =4 and ab = 45 find the value of a’-b®

(a) 604 (b) 370 (c) 253 () 199
Q45. If al(a+b)=15/21. what is (a+b)/(a-b) equal to?

@139 - ©) 2811 o) s (d) 21/9
Q46 (798+579)°(798-579)° . =12 D

Q47. A m'ah’é éVérage monthiy 'éxpehdit:l'.i'ré for tHé 'f'ir'St. fo'u"r months of t_hé yéar was I 231.25,
For the next five months, the average monthly expenditure was % 22 75 more than what it
was during the first four months. If the person spent ¥ 605 in al! during the remaming three
months of the year, find what percentage of his anhnual income of ¥ 3500 did he save in the
year? : mu B .

(@) 10% (b} 15% ~{c) 20% {d) 25%

Q48. The average age of students of a ciass.is 15.8 wyears. The average age of boys in the

class is 16.4 years and that of the girls is 154 years, The ratio of the number of boys to the
numbper of girls in the class is-- :

(@) 12 by 23 (c) 34 . (d)y 35
(49. 18 buckets of water fill a tank when the Capacity of each bucket is 8 iitres How many
buckets will be needed to fill the same tank. if the capacity of the bucket is 12 litres?

(a) 12 (b) 13.5 N

(c) 24 (d} can not be determined due to insufticient data
Q50.  Srinivasan invests two equal amounts in two banks giving 8% and 12% rate of interest
respectively. At the end of year the interest earned is Rs 1500. Find the sum invested in each.

(@) T 8500 (b} ¥ 15000 {c) T 7500 (d) ® 17.000
Q51.  The simple interest accrued on a sum of money at the end of four years 1s 1/5" of its
principal. What is the rate of interest per annum?

(a) 4% {b) 5% (c) 6% {d) inadequate data
Q52. A sum of T 2600 is lent out into two Parns, one at 9% and another at 7% If the total
annual income is ¥ 208, find the money lent at 7%.

(a) ¥ 1400 {b) ¥ 900 () T 1600 (dr 31200
Q53.  In an election between two candidates, 70% of the voters cast thewr votes, out of which
2% of the votes were declared invalid. A candidate got 7203 votes which was 60% of the total
valid votes. Find the total number of voters enrolled in that election.

(@) 18050 (b) 17500 (c) 17000 d) T203
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Q54. If the price of kerosene be raised by 11%, find by how much percent a house holder
must reduce his consumption of kerosene so as not to increase his expenditure?
(a) 11% (b} 9.9% (c) 11.09% (d) 8.25%

Q@55. 75 pupils from a school appeared for an examination and 80% of them passed. Another

school entered 10 more pupils than the first school and five pupils less than the first school
passed. The pass % of in the second school was:-

(a) 75% (b) 84% (c) 72% (d) 64.7%
Q56. Divide T 80 in the proportion of 3:6:7.

(a) T 10,3 35,% 40 (b) T15,% 30,7 35

(c) ¥ 15,%35,330 \ (d) ¥10,240,235
Q57. Calculate the amount on ¥ 1875 for 2 years at 4% per annum, "compt)unded yearly, "

(@) %676 ()76 (778 (d) 72028
Q58.  Ifx varies as y and x'= 8 when y = 15 then the value of x when y=10is=
S@s o by 1508 ) 85 T () 183

Q59. In a mixture of 60 litres, the ratio of milk and water is 2:1. What amount of water must be
added to make the ratio of milk and water as 1:2 ?

(a) 42 Litres (b} 56 Litres {c) 60 Litres (d) 77 Litres
Q60. A sum of T 10,000 is lent partly at 6% and the remaining at 10% p.a. If the yearly interest
on the average is 9.2 %, the money lent at 10% is:-

{a) T 8000 (b) ¥ 8500 {c) T 5000 {d) 2000
Direction:- Choose the word which is least like the other words in the group
Q61. (a) Garo {b} Khasi {c} Kangra {d) Jayantia
Q62. (a) Virgo ~ (b) Pisces {c) Cancer (d). Orion
Q63. (a) Shoulder ~ (b) Foot (c) Finger {d) Elbow
Q64. (a) Canoe ~ (b) Dingy (c) Yatch {d) lgloo
Q65. (a) Inn -~ (b} Ciub (c). Motel (d} Hostel

Directions:- The following questions. consist. of two words that have a certain
relationship to each other, followed by four aliernatives. Seiect the best alternative that
has the same reiationship as the original pair of words

QB6. Liquor : Drink it IR

(a) Bread . Butter =~ v {b) Tea : Beverage

(c) Sniff : Inhale = (d) Water : Sip
Q67. Evaporation : Cloud

(a) Mountain : Snow {b) Book : Pages

{c) Pressure : Atmosphere (d) Tension : Breakdown
Q68. Barrel : Vial

(@) Book : Pamphiet {b) Book : Reader

(¢} Brochure : Complier {d) Length . Height
Q68. Cream : Cosmetics

{(a) Tiger . Forest (b} Mountain . Vailey

(c) Magazine : Editor (d) Teak : Wood
Q70. Carnivore : Herbivore

(a) Flesh : Plant {b) Horse : Lion

{c} Camel! : Giraffe i (d} Animal : Bird
Direction: Three words in bold letters are given in_sach question, which have

something in common among themselves. Out of the four given alternatives, choose the
most appropriate description about these three words.

Q71. Hamilet : Macbeth @ Fausius

(a) They were Princes. (0) They are piays by Shakespear.
{c} They are characters from various dramas. {d) They were romantic heroes.
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Q72 Vesuvius | Etna ¢ Kilimanjarc

(a3 These are sites of volcanoes. (h) These are island countries.
ic) These are hille of Haly. (d) These lie in polar region.
Q73 Knot : Watt : Fathom
(@) The terms are used by sailors. (b) The termes are used for installing eleciricity.

(¢} The tarms are connacted with rope.  (d) They ars units of measurement.
Q74. Baruni : Digboi : Ankleshwar -
' {2) They are famous for oil fields. . (b) They are famous refigious places.
(¢) They are tourist places of South india. {d) They are famous for handiooms.

75, Knight Rook : Bishop :
(a) These are missionaries. = .° © © (b) These are churchmen.
(¢} These are chessmen. : {d} These are ranks of military.
Q76.  Abhi Bhattacharya : Utpal Dutt : Satyajit Ray
(@) They are character actors. (b) They are directors of Bengali movies.

{¢) They are famous poets and writers,  (d) These personaiities belong to Bengal.
G77. Voodoo @ Sorcery : Necromancy .

(2). They are ancient arts found in sculptures, .

(b). They are terms- connected with black magic. - ..

(¢) They are ancient scripts, 1" R T g

{d) They are-means of communication of pre-historic age. - .

Q78. FRourkela @ Bokaro : Ij'ur{gaipu:"" BRI

(a) Théy'afé;fétée! plants. " (b) They have coal mines™ |

(c) They-ha\fe'afomic power plants:” " (d) They are on the sea coast. - -
Q79 Spinach : Fenugreek @ Ceiory o

{a) These are cactus plants. (b): These are wild plants.

(¢} These are wild flowers. (d) These are ieafy vegetables.
Q80. - Yeats : Ghalib : Kabir.. R e R

{a) They were social reformers, 1. (b) Fhey were famous poets. =

(c) They were saints. S {d) They were yoga instructor:

Direction: ~ There are two sets of figures riamely the Problem figures containing five
figures 1, 2, 3, 4, 5 and answer figures (a), (b), {c), {d). You have to select one figure from
the Answer figures which will continug the same series as given in the Problem figures.
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Q83. R P
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Q84 g@. : — - - - . — . o
{13 ( 533 (4 (5) {a) {h) (C} : fd} S
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Girection: The "Efz!mw%ﬂg situations involve @ cluster of three or more geometrical
figures, having one of more dols placed at any point inside the cluster. This ciuster is
followed by @ set of four aliernative figures each composed of a cluster of the sams type
of figures. Now, for each dot we have to observe the region m whz"‘h at is eﬂci@secﬁ Le. in
which of the geomedrical figure this region is common.

From amoenyst the figures marked (), (b), {c} and {d}, sé ea:% thﬂ fsgun wmﬁi‘* saﬁasfaes tnnﬁ'
sar“ae cor !(:3190??5 mf piacnmert af the dat as m fug {X} :

S o

[ Inten

{a} (b {ci
Q87 TN e
. i N
‘\\i/} ‘L%:_::jq "M
{a) {2} {c}
] pd W .
088, | AN 7P S e
i AN N5 A ™,
{3 {a) {b}y . {c} {d}
= AE] B & G
=k == i A I -~
) ) " lbl (c} (e}
P i P / S o ma
OG0, Fad N f!‘\. @ E\ .—@_ﬁ« 3
(%} ta) S i (et}
Blirection :  in this portion, a figure is given as an originat figure (0 foliowed by four

answear ﬁgures The original figure is embedded or hidden in one of the answer figures
{8, &, ¢ & d}. Seiect the alternafive that carries the correct figure which clearly shows the
embadded portion of the ariginai figure.
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Q94 X

(X}

i tx) g fak oo bl () (d) ,
Direction: " in each of the foliowmg questlons ‘a part of the figure is missing. Find out
from the gwen options {a}, (b), (c) or (d_), the right figure to fit in the missing figure (X).

Q96 1 P
7"/’

A

Q97.

Qo8. = 7

X (&) (b) (c) (d)

Q88.

O =x=11 _ =]

0 @ (B e (d)

- Q100.

(X}



